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gFjp i  

⋆ vy;yh tpdhf;fSf;Fk; ,t;tpdhg;gj;jpuj;jpNyNa tpilaspf;f. 
 

01. 1 ,ypUe;J Muk;gpj;J VWtupirapy; xw;iw vz;fs; vOjg;gLk; vz;Nfhyj;jpd; 
nghJ cWg;ig vOjpf; fhl;Lf. 

 

 

02. ngWkhdk; fhz;f. (−2)3 

 

 

03. ngWkhdk; fhz;f.    9.45 × 1000 

 

 

04. RUf;Ff.     
3

4
 × 12 

 

 

05. 20% I gpd;dkhfj; jUf. 

 

 

06. xU njhifg;gzk; e]Pu;> Rndj;jplKk;> Rndj;> utpaplKk; gfpug;gl;l tpfpjk; 
fPNo jug;gl;Ls;sJ. %tuplKk; gzk; gfpug;gl;l tpjj;ij nfhz;L ,ilntsp 
epug;Gf.  

 

 

 

 

 

 

07. &. 5000I fldhfg; ngw;w xUtu; xU tUlj;jpd; gpd;du; &. 500 I tl;bahf 
nrYj;jpdhu; vdpd;> nrYj;jg;gl;l tl;bia fldpd; rjtPjkhfj; jUf.  

 

 

08. RUf;Ff.     (−2) − (−5) 

 

 

09. 
15

7
  ,d; epfu;khw;iw vOJf. 

e]Pu;    :   Rndj; :    utp                

  3        :      4 

                    3        :       5 

……..     :    ………     :  ………. 



 

10.                                            jug;gl;Ls;s Kf;Nfhzp  𝐴𝐵𝐶,d; gug;gsT  36 𝑐𝑚2 vdpd;>                

                                                       𝑥If; fhz;f. 

 

 

 

 

11. cUtpd; Rw;wsitf; fhz;f. 

 

 

 

12. RUf;Ff. 

 

 

 

13. fpuPd;tPr; efuj;jpy; K. g. 6.30 MFk; NghJ ,yq;if Neuk; ahJ? 

 

 

14. jPu;f;f 3(𝑥 − 4) = 9 

 

 

15. RUf;Ff.   (−3𝑥) × (−4𝑦) 

 

 

16 𝑝𝑥 − 𝑦𝑥 − 2𝑥   I ,U fhuzpfspd; ngUf;fkhfj; jUf. 

 

 

17.  700 ,d; epug;G Nfhzj;ijf; fhz;f. 

 

18. gd;dpUKfp xd;wpd;> 

 (i) Kfq;fspd; vz;zpf;if ahJ? 

 (ii) Kfj;jpd; tbtk; ahJ? 

 

19.  ehw;gf;fy; 𝐴𝐵𝐶𝐷,d; Gwf;Nfhzq;fs; 𝑥0, 𝑥0, 1100, 800 

   MFk;.  𝑥 ,d; ngWkhdk; fhz;f. 

 

 

 

 

20.                          xOq;fhd mWNfhzp xd;wpd; Row;rp rkr;rPu; tupir ahJ?  

  

 

 

𝐴 

𝐵 𝐶 12 𝑐𝑚 

𝑥 

 𝑡         𝑘𝑔 

12    320 

          × 6      

𝐴 800 

𝑥 

𝐵 

𝐶 

𝐷 

𝑥 

1100 

5 𝑐𝑚 

5 𝑐𝑚 

8 𝑐𝑚 

8 𝑐𝑚 

7 𝑐𝑚 



gFjp 𝒊𝒊  
Ie;J tpdhf;fSf;F khj;jpuk; NtW gj;jpuj;jpy; tpilaspf;f 
 

01. (𝑎) fPNo 1 ,y; njhlq;fp VWtupirapy; mjpfupj;J nry;Yk; Kf;Nfhz 

vz;NfhykhFk;. 

                        1, 3, 6, 10, . . . 

   (i) ,t;ntz; Nfhyj;jpd; mLj;J tUk; ,U cWg;Gf;fisAk; fhz;f. ( 02 G) 

   (ii) nghJ cWg;G 9𝑛 MfTs;s vz; Nfhyj;jpd;> 

    (m) Kjy; ,uz;L cWg;Gf;fisAk; vOJf. ( 02 G) 

    (M) 8Mk; cWg;igf; fhz;f. ( 01 G) 

    (,) 72 ,t;ntz; Nfhyj;jpd; vj;jidahtJ cWg;ghFk;? ( 01 G) 

 (𝑏) (i) RUf;Ff;   1.2 × 0.8 ( 02 G) 

   (ii) RUf;Ff;   3.72 ÷ 1.2 ( 03 G) 

 (𝑐) 23𝑥3  tYf;fspd; ngUf;fj;ij> ngUf;fj;jpd; tYthfj; jUf. ( 01 G) 

 

02. (𝑎) (i) RUf;Ff;    1
1

4
 ×  

4

15
 ( 03 G) 

   (ii) RUf;Ff;    2
1

4
 ÷ 1

1

5
 ( 03 G) 

 

 (𝑏) (i)   √225 ,d; ngWkhdk; fhz;gjw;Fupa 
       gbKiw jug;gl;Ls;sJ. ckJ tpilj; 
      jhspy; mjidg; gpujpnra;J ,ilntspfis 

      epug;Gf.  ( 03 G) 
 

 

   (ii) 324 𝑚2 gug;gsTila rJu tbt G+g;ghj;jpapd; gf;f ePsk; ahJ? ( 03 G) 

 

03. (𝑎) R[pj; &. 24 000I Kjypl;L [dtup 01 jpfjp tpahghuk; xd;iw Muk;gpf;fpwhu;. 

r[pj; &. 40 000 I Vg;uy; 01 Mk; jpfjp Kjypl;L mjpy; gq;Fjhuuhfpuhu;. 
Mz;bWjpapy; mtu;fs; Kjypl;l njhifiaAk; fhyj;ijAk; fUj;jpy; nfhz;L 
,yhgk; gq;fplg;gl;lJ. 

   (i) ,UtuplKk; ,yhgk; gfpug;gLk; tpfpjj;ijf; fhz;f. ( 03 G)

  (ii) Mz;bWjpapy; ngwg;gl;l ,yhgk; & 22 500 MFk; vdpd;,  r[pj; ngw;w 

,yhgj;ijf; fhz;f. ( 03 G) 
 

 (𝑏) (i) KOg;gFjp 1MFk; NghJ 0.25 I KOg;gFjpapd; rjtPjkhfj; jUf.  ( 02 G) 

   (ii) jhq;fpnahd;wpypUe;j 150𝑙 ePupy; frpnthd;wpd; fhuzkhf 20% ePu; 

tPzhfpaJ. tPzhfpa ePupd; msit yPl;lupy; fhz;f. ( 02 G) 

   (iii) jhq;fpapy; Muk;gj;jpypUe;j ePupd; msT jhq;fpapd; 20% vdpd;> jhq;fpapd; 

nfhs;ssit yPl;lupy; fhz;f.  ( 02 G) 

 

04. (𝑎)    jsTU 𝐴𝐵𝐶𝐷𝐸𝐹𝐺 ,y; 𝐶𝐵 = 𝐵𝐺 = 𝐺𝐹  

      MFk;. ,J 𝐴𝐵𝐺 Kf;Nfhzg; gFjp> 𝐶𝐷𝐸𝐹   
    nrt;tfg; gFjpiaf; nfhz;like;j  
    $l;Lj; jsTUthFk;. 

   

   (i) 𝐵𝐺  ,d; ePsk; ahJ?          ( 01 G) 

   225 = 3 × 3 × 5 × 5 

            = (3 × 5) × (3 × … . ) 

            = (….  × 5 )2 

√225 = ⋯ … … … .. 

𝐶 𝐵 

𝐴 

𝐸 𝐷 

𝐹 𝐺  

18 𝑐𝑚 

6 𝑐𝑚 

6 𝑐𝑚 



   (ii) Kf;Nfhzg; gFjp 𝐴𝐵𝐺 ,d; gug;gsitf; fhz;f. ( 02 G)

  (iii) nrt;tfg; gFjp 𝐶𝐷𝐸𝐹  ,d; gug;gsitf; fhz;f. ( 02 G) 

   (iv) $l;Lj;js cUtpd; gug;gsitf; fhz;f. ( 02 G) 

 (𝑏) fdTU tbthd kuf;Fw;wp cUtpy; jug;gl;Ls;sJ. 
   Jug;l;Ls;s juTfSf;fika Fw;wpapd; nkhj;j  

   Nkw;gug;gpd; gug;gsitf; fhz;f.   ( 05 G) 

 

05. (𝑎) 𝐴 MdJ 1 ,w;Fk; 10 ,w;Fk; ,ilapYs;s 3,d; klq;Ffs; njhilahFk;. 

   (i) %yfq;fis rq;fpyp milg;gpDs; vOJtjd; njhil 𝐴I vOJf. ( 02 G) 

   (ii) 𝑛(𝐴) If; fhz;f? ( 01G) 

   (iii) $w;W 10 ∈ 𝐴 cz;ikahFkh? cz;ikahfhJ vdpd;> $w;iwj; jpUj;jp 

vOJf.  ( 02 G) 

   (iv) 𝐵 = {1 ,w;Fk; 3 ,w;FkpilapYs;s xw;iw vz;fs;} vDk; ,d;ndhU 

njhil jug;gl;Ls;sJ vdpd;, jug;gl;Ls;s $w;Wf;fspy; rupahdijj; njupe;J 
vOJf.  

    𝑛(𝐵) = 0,   𝐵 =  ∅,    𝐵 =  { } ,    𝐴 =  ∅   ( 02 G) 
 

 (𝑏) 2024-07-26 Mk; jpfjp ,yq;if Neug;gb gp. G. 9.45 ,w;F, 

   (i) mT];jpNuypahtpd; rpl;dp efuj;jpy; Neuj;ijf; fhz;f. ( 02 G) 

   (ii) mT];jpNuypahtpd; rpl;dp efuj;jpy; vd;d jpfjpahFk;? ( 03 G) 

    (mT];jpNuypahtpd; rpl;dp efupd; fhy tyak; +10 MFk;) 
 

06. (𝑎) (i) jPu;f;f 
2

5
𝑥 − 1 = 7 ( 03 G) 

   (ii) khztnuhUtuplk; & 5 ehzaq;fs; 𝑥ck; & 2 ehzaq;fs; 10ck; cs;sd. 
mg;gzj;jpd; miuthrp & 25 MFk;. jug;gl;l juTfspd; mbg;gilapy; rkd;ghL 

xd;iw mikj;J 𝑥,d; ngWkhdk; fhz;f. ( 04 G) 

 (𝑏) (i) milg;G ePf;fpr;> RUf;Ff. 5(2𝑥 − 3𝑦) − 3 (𝑥 − 2𝑦) ( 03 G) 

   (ii) 𝑥 = 2 , 𝑦 =  −1 vdpd;> NkNy jug;gl;l Nfhitapd; ngWkhdk; fhz;f. 

      ( 02 G) 

 

07.  

 

 

 

 

 

 

  
 

 (𝑐)    𝐴𝐵𝐶𝐷 ehw;gf;fypy; gf;fk; 𝐴𝐵, 𝐸tiu 
      ePl;lg;gl;Ls;sJ. juTfSf;fika> 

      (i)   𝑥 If; fhz;f                   ( 02 G) 

      (ii) 𝑦 If; fhz;f                   ( 03 G) 

6 𝑐𝑚 

4 𝑐𝑚 

8 𝑐𝑚 

(𝑎) jug;gl;Ls;s juTfSf;fika  𝑥 

If; fhz;f                 ( 03 G) 

 

𝐶 

𝐵 

𝐴 

1000 

𝐷 

2𝑥 

𝑥 800 

(𝑏) 𝐴𝐵, 𝐶𝐷 Neu;NfhLfs; 𝑂 ,y; 
,ilntl;Lfpd;wd. juTfSf;fika 

 (i)  𝑎 If; fhz;f                  ( 02 G) 

 (ii)  𝑏 If; fhz;f         ( 02 G) 

 

𝐶 

𝐵 

𝐴 
800 

𝐷 
𝑏 𝑂  𝑎 

450 

𝐶 

𝐵 𝐴 

1100 

𝐷 

𝑥 
𝐸  

𝑦 

700 
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